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Attempt five questions in all, selecting

at least two questions from each Section.
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SECTION A (Wg &)

What are the main changes which have taken place
after 1991 in the policy towards public and private
sectors ? Do you agree with the view that most of
these changes have been harmful for the long-run
development of the Indian economy ? Give reasons in
support of your answer. {12,8)
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Anélyze the effect of population growth on the
economic development of India. : (20)
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What are the main features of the unemployment
problem in rural India ? In this context, examine the
efficacy of the policies adopted in India to deal with
this problem. {10,10)
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How far has the planning process in India been

successful in
{a) reducing poverty

{b) increasing self-reliance (10.10)
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Write short notes on any twe of the following :
(a) Vicious circle of poverty

'(b) Difficulties involved in making use of disguised
unemployment as a source of cost-free savings in
India.

{c) Main trends in Saving and Investment since 1951.
‘ (10,10)
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SECTION B (@T @)

What do you understand by land ceiling ? What has

been the progress in this regard in India ? What steps

would you suggest to ensure the implementation of
land ceiling laws in India ? (4,8,8)
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What are the main problems affecting the rural credit
system in India ? In this context, examine the role of
cooperatives. (12,8)
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Why did the Government of India take the lead in the-
creation of specialised industrial finance institutions
in India ? Do you agree with the view that such
specialized institutions are no longer necessary ? Give
reasons in support of your answer. (10,10)
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Examine the main changes in .Govemment policy
towards cottage and small scale industries after 1991.
Do you agree with the view that the policy of
reservation of some items for small scale industry is
no longer desirable ? Give reasons in support of your
answer. (10,10)
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Explain the causes ofl deficit in the Balance of
Payments during the planning era. Do you agree with
the view that the post-1991 changes in Government
policy have been instrumental in solving the problem
of foreign exchange shortage ? Give reasons in support
of your answer. , (12,8)
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